6-1 CO, D

COZ COZ
CO,
CO,
6-1-1
2003 9,781
411,989 10
CO,
CO, kg-COy/ 1.0234 x 411989
421629
6-1-2
CO,
6-1-2-1
CO, kg'COQ/
(kg-CO/ ) (kg-COo )
= km/ X km/
X / X =
269+ 13x 479.874+63 x 118096 x 63+ 88
133255
6-1-2-2
CO, kg'COQ/
(kg-COs ) (kg-COo )
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+ km/ X km/ X /
X +

269+50x 12956+3 x118096x 3+ 88

934
6-1-2-3
CO, kg'COQ/
1km CO, kg-COx/km  x km/
X / X =
50+95x0.61x150+1000 x 21.934+4 x118096x 4+ 88
1417
6-1-2-4
CO, kg'COQ/
1km CcO, kg-COx/km  x km/
X / X -
28+95x0.61x150+1000 x 132.628+18 x 118096 x 18+ 88
4800
6-1-3
6-1
411,620 kg-CO.f 2
1 186,252 kg-CO,/
225,368 kg-CO./
CO,
6-1 COZ kg'COZ/
A 10,009 314,876 3,225 2,705 5,852 336,667
B 421,629 133,255 934 1,417 4,800 562,035
(O B-A 411,620 | -181,621 | -2,291| -1,288 -1,052 225,368
CO, 6-2
4.6
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6-2 CO, kg-CO,f
A 336,667 | 4,480,107 | 4,816,774
B 0] 5,042,142 | 5,042,142
B/A 1.046
1 2004 , 2004
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